GN 717

T

TR
B

GN 717-3-M6—-A-ST

GN 717-3-M6x0. 75—-A-ST

GN 717-4-M6—-A-ST

GN 717-4-M8x1-A-ST

Type A

;

==

din11 d> ds

ds

3 M6 14 -

3 M6x0.75 14 -

4 M6 14 -

4 M8x1 18 -

=

Type B

|

I

6.9

6.9

6.9

9.2

ERS

I1

|2 min.

BRS5

3.5

4.5

1-—.—

I3

12

12

12

16

la

4.5

4.5

4.5

6

i

Type BK

S =

|"
|

/

j’

0,5xd»

I

with retracted plunger

10

10

10

13.5

HREANS  moppmn =R
A/F Preload Max. load Nm g
6 3 12 2 4
6 3 12 3 4
6 3 12 2 4
8 5 24 8 8


http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html

Pt
BiHE

GN 717-5-M8-A-ST

GN 717-5-M8x1-A-ST

GN 717-5-M10x1-A-ST

GN 717-6-M10-A-ST

GN 717-6-M12x1. 5-A-ST

GN 717-8-M12-A-ST

GN 717-8-M12x1. 5-A-ST

GN 717-8-M16x1. 5-A-ST

GN 717-10-M16x1. 5-A-ST

GN 717-3-M6—-AK-ST

GN 717-3-M6x0. 75—-AK-ST

GN 717-4-M6—AK-ST

GN 717-4-M8x1-AK-ST

GN 717-5-M8-AK-ST

GN 717-5-M8x1-AK-ST

GN 717-5-M10x1-AK-ST

GN 717-6-M10-AK-ST

GN 717-6-M12x1. 5-AK-ST

GN 717-8-M12-AK-ST

GN 717-8-M12x1. 5-AK-ST

GN 717-8-M16x1. 5-AK-ST

GN_
717-10-M16x1. 5-AK-ST

GN 717-3-M6-B-ST

GN 717-3-M6x0. 75-B-ST

GN 717-4-M6-B-ST

din11

10

N

d>

M8

M8x1

M10x1

M10

M12x1.5

M12

M12x1.5

M16x1.5

M16x1.5

M6

M6x0.75

M6

M8x1

M8

M8x1

M10x1

M10

M12x1.5

M12

M12x1.5

M16x1.5

M16x1.5

M6

ds

18 -

18 -

18 -

24 -

24 -

30 -

30 -

30 -

30 -

14 -

14 -

14 -

18 -

18 -

18 -

18 -

24 -

24 -

30 -

30 -

30 -

30 -

M6x0.75 -

M6

da e

9.2

9.2

13.8

13.8

13.8

19.6

19.6

6.9

6.9

6.9

9.2

9.2

9.2

13.8

13.8

13.8

19.6

19.6

12 6.9

12 6.9

12 6.9

ERT

I

30

30

30.5

|2 min.

10

BR5

EA5)

4.5

10

BRS5

I3

16

16

16

20

20

24

24

24

26

12

12

12

16

16

16

16

20

20

24

24

24

26

12

12

12

7.5

7.5

4.5

4.5

4.5

7.5

7.5

4.5

4.5

4.5

|5 min.

13.5

13.5

13.5

17

16.5

20.5

20.5

20.5

22.5

10

10

10

13.5

13.5

13.5

13.5

17

16.5

20.5

20.5

20.5

22.5

10

10

10

A/F Preload Max. load

8

8

10

10

12

12

12

17

17

10

10

12

12

12

17

17

HEES N=

5

5

24

24

24

21

21

22

22

22

27

12

12

12

24

24

24

24

21

21

22

22

22

27

12

12

12

BORIT R

22

15

38

20

20

80

80

22

15

38

20

20

80

80

EE

8

10

15

17

20

30

40

54

55

5

15

20

19

21

23

24

27

30

40

42

50

55



Pt
BiHE

GN 717-4-M8x1-B-ST

GN 717-5-M8-B-ST

GN 717-5-M8x1-B-ST

GN 717-5-M10x1-B-ST

GN 717-6-M10-B-ST

GN 717-6-M12x1.5-B-ST

GN 717-8-M12-B-ST

GN 717-8-M12x1.5-B-ST

GN 717-8-M16x1. 5-B-ST

GN 717-10-M16x1. 5-B-ST

GN 717-3-M6-BK-ST

GN 717-3-M6x0. 75—-BK-ST

GN 717-4-M6-BK-ST

GN 717-4-M8x1-BK-ST

GN 717-5-M8-BK-ST

GN 717-5-M8x1-BK-ST

GN 717-5-M10x1-BK-ST

GN 717-6-M10-BK-ST

GN 717-6-M12x1. 5-BK-ST

GN 717-8-M12-BK-ST

GN 717-8-M12x1. 5-BK-ST

GN 717-8-M16x1. 5-BK-ST

GN_
717-10-M16x1. 5-BK-ST

din11

4

5

5

5

)]

(o]

[e]

(o]

w

w

N

N

]

(6]

]

)]

a

o]

(0]

o]

d>

M8x1

M8

M8x1

M10x1

M10

M12x1.5 -

M12

M12x1.5 -

M16x1.5 -

M16x1.5 -

M6

M6x0.75 -

M6

M8x1

M8

M8x1

M10x1

M10

M12x1.5 -

M12

M12x1.5 -

M10x1.5 -

M16x1.5 -

Technical information

IREUA

da

16

16

16

18

18

21

- 21

21

25

25

12

12

12

16

16

16

18

18

21

- 21

21

25

25

9.2

9.2

9.2

13.8

13.8

13.8

19.6

19.6

6.9

6.9

6.9

9.2

9.2

9.2

13.8

13.5

13.8

19.6

19.6

ERT

39.5

40

40

42.5

49

52

59

59

63.5

67.5

30

30

30.5

39.5

40

40

42.5

49

52

59

59

63.5

67.5

|2 min.

4.5

10

EA5)

BR5

4.5

10

I3

16

16

16

16

20

20

24

24

24

26

12

12

12

12

16

16

16

20

20

24

24

24

26

7.5

7.5

4.5

4.5

4.5

4.5

7.5

7.5

|5 min.

13.5

13.5

13.5

13.5

17

16.5

20.5

20.5

20.5

22.5

10

10

10

13.5

13.5

13.5

13.5

17

16.5

20.5

20.5

20.5

22.5

A/F Preload Max. load

8

8

8

10

10

12

12

12

17

17

10

10

12

12

12

17

17

HEES N=

5

5

24

24

24

24

21

21

22

22

22

27

12

12

12

24

24

24

24

21

21

22

22

22

27

BORIT R

22

15

38

20

20

80

80

20

20

22

15

38

20

20

80

50

EE

10

11

13

14

17

26

31

40

50

55

10

12

15

23

23

30

43

a4

45

55


http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html
http://njnicety.com/goods/show-1012.html

AN o

w3k
AISI303 INEE4N .
B2 T A % 9+0.03/+0.08 HIFLI o

BURIRE
PR .

07
A

“tfe/ B WIEEF
FHEREEE (PA) BRHCR AT, B, TR W, JUI. AT,

HHER LA R AR RS

- AR R, EBURISHRE, 754 1SO 4035/ 1SO 8675.
- AK B AR R R

-B M HHRT, EHIRIER, 774 1SO 4035/1SO 8675 .
- BK AL iR B R

AR AT

GN717 B4 FEAHE M T 5 E A B e

GN717 72— XA BARHI 2 251, RN T RSNG. @l T AR =R ERS .
A GN717 Z45) FEAH RO ADR /NS R Zedend B Pl e R 3R T A1 S R A AR AT #R 4F



	螺纹本体 
	销头
	锁紧螺母
	拉环
	“推/拉”滚花捏手
	可供应以下标准型号
	特征及应用

